review for Chap 3 test with ANSWERS.notebook OCctober 28, 2014

33, in the problems below, find the value of x.

msl=(3x—-17)° = 3
> mL2={x+1)° X 1= %+l >%<.
& x '="III
ms3I=(20x+11)° - N = |80 :
m4=(8x+1)° Q;’:j* f:t i?é %

Afx = |bY

' mZ1={95+7x}°
Ry =((55T- A)i ’15"’7}1 ¥ ST“X =l 12
\ SO+ (% =180

ms3={5x+12)°
mld=(1x-16)° Sy+‘1

L

a

Eind the mlssing angle measnres;

34, 35. o

140

x+8 —
. . 140 = S+ X+ §
U+ %+ o+ Sxr b =180 ‘34-.3-30 1\{{) bxt-&'
+ -1 132¢s
l0x+82*IFD | _q PQ '
Find the value of x that would the given lines parallel State the theoram or postulate to mpu ¢ answer,

Cor
/ . {2 + 207,
1. s’/\ 38, ’i 19, 2+ 21
{6 + 24)° ;

Exe 20+ :
i /® . ?x‘“f%t%l\){-wo 33 =L+ 2

W17

- Sg. :
/— ‘L

X<1T) ss1 alt.ext.y
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For each of the following statements, write yes or ng based on the given information, THEN, if no, explain

why, if yes state the theorem ar postulate that supports your answer.
25, Is Al= /2% es gr No

A 1\‘\ p Reasoning: QWS‘? ! ?’g T\-\N\
c e \\ D
2'\
26, Is £1= 229 Yes
\
A

B Reasoning: A D+ \l !l .
2 —
c /jvl 0
27, Is £1= /27 @arm

@Jﬁ resonig,_ AT AKX T % Thm

T 2\

28, LAiz£2? Yes o
not I

Reasoning:
‘ 1 ]
c 2

I £1= £27 EedorNo
Ai: Reasoning: A\ ". \ \f\s‘ . K %

29,

2

30.  IgmLlmid2=180" ?B Yes g

.

Z\—"p Reasoning: ‘{\6\— \l\\ .

If /12 /2, is AB || CD?
31 G St ®OFNO

A ﬁé\ i Reasoning: C(}“\! . O-F C oYY p‘p. ¥ —D\M

o y D ——

32 If Li= 22, is AB|| CDY Yes \/ A X_ls

Reasoning;

p— B

i
¢ D
\
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21. Fill out the two-column proof.
Given: g il b x ﬂ ¥

Prove: Z4 and Z15 are supplementary

STATEMENTS REASONS
i a {E bx Ei y 1, Given
2. Z15 and £9 are alternate exterior angles 2 De En, alt. oy 2;_/ ¢
3. £15=29 - Ay, 'b"*-éi'l Twwy
(N\ CIS Zne GD , 4, D?ﬂnitien of angle congruence

5. /9 and /4 are same side interior angles . 5. m‘f‘\ S s I K,S

17 SST § Pott, /T\,.,\
Iy T S s

g‘e‘!§>+n;£4 =189 8. Substitution Property of Equality

<Y ond KIS e dvpp. > W, l‘m{:p\w.

6. £9 and £4 are supplementary

9.

22, Ery ich solution for the figure at the right is incorrect? Explain,
2¢ - 40 + (x + 10) = 180 g "
. . [,
3¢ 30=180 2 - a0y ¢
3x =210 — A ,

alt nt, ¥ =

23, Factor the following polynomia.l

24, Given the following information, find the vafue ofx.

Hjm 7’
@L_I:xz—?:c L4
mLl=-—-x+7 & F

Nt

<2
X = =x+ T
+X -7 tx =77

6770

Gl ) =0
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 Name . Period Date
Geomelry 22: Practice with Lines Cut by a Transversal (3.1-347
Use the dlagram to name each of the follow ing

1. a plane paralle! to plane SUQ P\ Gt e‘)f:;? o
2. two lines that are parallel to RV

3. three lines that are skew to WX 1.,\; s\ ée Tz, /{q‘ ........ L Jy
4. two lines that are parallel to plane QUR,,. X
S? R 3 f;%’

In fhe following exercises, desciibe the statement as frite or fulse. If false, explain why, also sfate their
intersection poinf(s) if possible.

EL A 8
AE and BF are skew llnes. ‘ 6. plane DBF leane ABD ‘BV v
Fatse, || F L 0
7, GH | EF T s.“ﬁi{“ﬂﬁ“é—r- AL
G H
' 9, plane EFH " GC 0. Fif and CD are skew lines.

FoLgb T

Name the special pair of angles listed below

11, Z6and 28 ¢ MLSP v

2 Z7and 21 a\4, (AT,

13, £10 and £14 g U.H ¢ A

4. Z5md 210 ¢ gt sidg int.
15, /2 and /5 ]I',\. P(

16. Tdentify all the numbered angles thiaf are congruent to the given angle. State the theorem or
postulate that supports your answer,

d....s Vet
<8 cowesp.
< 7 oM, ext,

Find m£1 and m o2, State the theorem or postulate that suppurts your answer,

b PR LYo NENNET R me] =70
1304 ,

< ) r s - JBO-
ez lé‘ﬁwn* med )wna

Find fhe value of x and p. Then find the measure of each labeled angle, 9 amg §, ‘k(

L= 2 +x= 1800 3‘*"5 T XSS ",

Q\:&‘(‘:‘m -{3xsr"'S‘- W LO
AL iy

10,




7

I

.

1)

. —3
A C (@ KS
Geometry 22 Practice With 3.1-3.3 including proofs ~ Name /)f\“guw U per__date

{dentifying Angle Pairs — Look at each diagram and find the 2 angles that are marked with an asterisk*.
Then a} state what special type of angles they are or write ‘no special relationship’ if none exists.
and b) tell which 2 lines, if any, would be parallel to each other if those 2 ungles were congruent.

3)

l/ / 2} z/ ﬂ
)/ w/ ./
hok ho h

/)
Ay
i

C.Gwspmdug a)_ NONA a_ bk, nk ?f}i?

ik b by L) o

a}

s,/ / 6)

a) ,// /*/ / / f// //
VA A

17

\/JZ./’i\ cak m@ j al VLA h} eut »@K-t" 25.:3

b bl o) {_i

) t ./ ”[
S/

8) ,*/*/'9)
[/

al

A VA

./ /
77
1T

ol 4xl B g ok ot 3 (;Ws(?mc&‘«g

0 _p I K bl I\ 5 R

1.

Knowing When to use Which Theorem —Provide the reason that justifies each statement.

3 /4.
m 5/ BES T alte ond, Xy Hriparen

IA 10}
4,

1. Ifim 1. given

7/ 8
11)

1 <2 = <7 1. given
=120 gawvesl of alt, iy Hhm
=




12)

[ 1 A 1 1||m 1. given
m 5/6
7/ 8 13)
1. Him 1. given
2. <4 and <6 are 2. Seewnd stele n. X Hmy
supplementary
3. m<d+m<6=180 | 3. '1)@(1\ SU\()(\)K}/V\.O.&W\
' J

14)

1. <3 and <5 are
supplementary

1. given

?;_{g‘%wh

2. |{m 2. N St o some sidp
CaMve AT
3. <l =<8 3.

it Solving for %’ ~ state what type of angles each pair is, then write an equation and solve for x;
21) \ 22} N
BV » 8% 40 ng\ = 133 H3
N §x—4 _ g)( :(‘9('] e S (}(/: “‘7 j
X N
, £
.* ........
25 /4 24) /4
—1+4 14x . L A3y ~$ = Ax + S
- 1""“{\( ::\2)(4‘1'7 " /23‘1'—5
’ /i?.r+}.? i~ '—\[ ¥ R /Iix-i-S >
: 6D
Find the measure of the angle indicated in bold.
25) 26) .
A +X b IS0 / Ty
- _ X+ +K | D0y rsH LN [ =150
¥+ 96 99(" i - 200 +3
12 =1%o / .
R v +06 N ' ey, 24— YMx +4 = (8L
%x_-—;; / Yix = 177 G
27) } | 28) , x=q
) X+ 109

< )

X4 [ 094+ x 489 218D

//_‘\
Ytﬂﬂ

\

iy

X + U8 = %D
AX = g

D)




Iv. Using Theorems in Proofs {
2
15) Given: m<1=75"; [|lm
i 3
Prove: m<3=105" /
STATEMENTS | ’ REASONS
)  wmep=s o, Ajfm 1) G
2) <land <2 are a linear pair " 2)  Dedn. Lin %x -
3) | eand €3 ot Suyplem 3) linear pair postulate
4) m<l+m<2=180 B 4)  Deda. Sevppha
5) 75+m<2 =180 5) Subbth vt
6) m <y = 05 6) subtraction
7) <2and<3are__aht, (nt %5 angles | 7)Defnof  ald, ah K
8) <2=<3 8) Ot At 3y e
9) M e o e 9) Defn of congruent
10) MmeR 2 0% 10)  Sudbrsh'arhavs
16} Given: <1 and <3 are supplementary  / 1/
Prove: || m %
I
7
STATEMENTS REASONS
2} wc] dme? T §O 2) definition of supplementary
3) <land<2forma__ i nreer P 3) defn.of _ [tre o pend
4) <1and <2 are supplementary 1) Lin. O Posde lecte
5) wielr e =i§D 5) defn. of supplementary
6) m<l+m<3 =m<l+m<2 6) Substhidiinve—
7) MO T NI O 7} subtraction '
8) P N 8) defn. of congruent ~
o) I|m 9 (oSt of  CovtsOondae,
1
» 4
17} Given: <1 = <2: <bh= <4
Prove: :’EH RS
STATEMENTS REASONS
1) <1 = <2 1) O~
2) <2= <5 2) Voshicaldl ¥ Tn,
3) <5 = <4 3} given
4) oy Ead 4) Transitive property of congruence
5) P"(;z\\ [N ‘:’\J LV, od ol ond, 2( ’ﬂ,\m
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“Solving Quadratic Equations by Factoring Date

Solve each equation by factoring.

5) x*-11x+19=-5 6) P+ Tn+15=5
N’ —-10n+22=-2 - 8) i’ +3n—-12=6
9) 6n* - 18n-18=6 - ' 10) 772 — 14r =7

2 -
1) n*+8n=-15 12) 5% — 4dr+120=-30 + 117

. ) ~
13) ~4k> —8k-3=-3-35k 14) b* +5b—35=23b

Period




51 =22 [ Preduw (Ve

For each, state the angle relationship.

M il

AN U

3\ 4

1. Angle 21 and 48 are... 2. Angle £3 and £5 are...
alternate exterior angles Soume. St [ ndpeio Ky
3. Angle £1 and £5 are... 4, Angle z4 and 28 are...

Concesponding %1

Cocces ponding. ¥y

5. Angle £2 and £6 are...

6. Angle 24 and 25 are...

!
CEOLSOUN diny ke ngde ks 88
A 0
7. Angle 22 and 27 are... 8. Angle 23 and 46 are...
aAdenole prkaol % Wacrade  Iokednc &
9. Angle 24 and 26 are... 10. Angle 23 and 27 are...

Samg S\le, inbave  3)

Covresp mdt‘r\e\«) §' \

The next set might have some from other sections! You can do it!

11. Angle 27 and 46 are...
vertical angles

12. Angle 25 and 27 are...

u\\?@( {‘)C{x‘(”

13. Angle 21 and 24 are...

14. Angle £6 and £3 are...

verkical FS akacnocke infenod T
15, Angle £5 and £6 are... 16. Angle 27 and 28 are..,
Lot ui e A

17. Angle 27 and £3 are...

wrwg@m\m?

18. Angle £5 and £8 are...

Verkeal X §

pes . date




Okay good, you're getting faster at it [ bet. Let's do some matching. Write the letter of each plcture

--—in-the right column in the blank next to its description in the left column;-~ - -—=-— — -

lfﬁ 1. alternate interior angles A N /

i T
4
/

[; 2. corresponding angles B. 4\
102°

. alternate exterior angles C. - /
4. complementary angles o /1
D.

I . %
5. vertical angles E.

1

2

6. supplementary angles F,

~J

. linear pair

v
v
™~

v
Y

s siele it

. sonsecutive angles

e

9. adjacent angles L




On these state the angle relationship, write a

statement about-whether they-add to 180° or are -

equal, and find the value of x.

16. Alternate exterior

2X+19°=x+23°
~X -X
X+19°=23°
~19°-19°
X=4°

2x+ 12?_/;*_“2‘30

18.

i

OL\J(; vt }’g S

x+34°
2x-12°

X*’ng &Xi’l !
1= X

verseed 8
pah =¥

—~t

Qx= 3
X=1g

3x+21°0+57

19.

”zx+42°\
. X-24°

kA

aame. el int,
RN Z XY 8D

x+ 1§ =180
Ix= |l

21.
\ﬁ .
;\ UNL&F Q(,u»\l"
DR X+33 HY Lol = 18D
t o1 o+ 1 2 L&D
x =z 9
22 Xz &fg
G Coorespmmele
> SO
,3%-35° P k?r
o5 7 3 B

Bubble all the correct answers from above. Don't bubbie incorrect answers.

O72c O4

O122 @460 @18 @064 @510 Q420 O30° G480 Q970 O28° @870 (O83°




25.

Veckeak %)
Y+ 3T = ax— ]
790 CONLS -
Z2x-37°

X+19 = Qv

\
2057 b, iakeded

T x459°

&\( %-5'% "L«ﬂ
29, T

LS

x+17°  dya\T <Y )

26.

28.

x+64° \
3%-26°
™.

e
Por

30.

+97° x+32°

same sele it K5

W3+ Y = J&D
Kx+ T eted

A o Kk
Xi/t;ﬂ;{ = -y

Bubble all the correct answers from above. Don't bubble incorrect answers.

O3te @160 Q200 P17° @w QOosge @51.5°% 450 @ 60° O725°@65° e O305°O24°




Mark the diagram with the given information,
-~ — state the angle relationship;-and-then solve for
the indicated angle.

31.m<£ACB is 68° Find the m£EFC.

B
A o3 °\c

"
\

H

D Corresponding

e

¢ s ACB=mLEFC
G8°=mLEFC

Eb-

33. m2£EFB=91° Find m«DCIH.

A
G R ) st 1o
E 0\(5 y < EED ymcDH 18O
H A1 + wepid cigo
D

35. m2GEH=47° Find m«BEFE.

22. msDCH=85° Find m2BFE.

bk,

D H =m <RFE
35 m<BrE

34. m2£HFG=103° Find m«BCD.

G A .
ol Ot %
; B
TR S MCRLD =i CHES
M BD < 103
% J\D
36, m2DCH=63° Find m£ACH, { jngor Cede

M BHA w4 DCH '%J’lj

i

Bubble ali the correct answers from above, Don't bubble incorrect answers,

O1122 Q95 ot @se  G4r

@103  (Os63° Oes° Qe @85




37. mzACH=X+424°, mzDCH=X-8° Find m£ACH.

2}(—164"
2 2
Xx=82°

D MLACH=x+24°
mcACH=82+24°
G mzACH=106°

Linear Pair
MLACH+m2LDCH=180°
(x+24°)+(x~8°)=180°
X+24°+x-8°=180

2x+1.6°=1.80°

~-16° -16°
39.msEFH=2X-142°, m£ACH=X+16° Find
m£ACH.
vy
NG UEAS L
SN ol
15 g7 X
. 5% 1(\\0
cmh \

41. m2zBCD=X+26°, m£BFG=2X-24° Find
msBFG.

'Xm,kp =)L
FUY v Uy
50 < X

we B¢ = A () L

38. m£ZACB=2X-45° m£HFG= X+23° Find
m£HFG. "

e HEG = 642D
(91

40. m2GFB=x+32° m2DCH=X+24° Find

msDCH.
sam Stde (ntensC

MEGFB 4m < DCH gD
X433 v+ = §0

mepen- oy ax= 19
@ X =g
42. mZADF=2X+4°, mZHEC=4X-14°. Find
msHEC :
A B At aader. S
) wetmpen
Yt T P< 7
| 1§ = 2x
G H

X< 9

wmeHLs Y ("D -1 } @ @

Bubble all the correct answers from above. Don't bubble incorrect answers.
@760 Qe @orr Qo9 Quee Q97 @2ze O165° Bsee  O9ze




